P e® ) (vE®) (Wva )

ATJVAE

\\7| ~ 5 ™ CE
£o) /o) 5 o) AT ’\}_J“/ﬁ)KDZE{(D'C )
50 o} 5) o) @ REDNRL—XTY . L&

7
SERICEATEET,
-8 e B
N1 BHIRR
F%
! }@. 8 }Eﬁ[} g8FE
re £ g%
y EEFE
o mm TR VEE | e
S S F%
=B
- Hj_l)_
3 Ty
R Vi L
FG
‘i43'
I NFUNE
_d | tvEd
OCTHEHS— (@R EOBRBOTETT. | 215
XEDMEFSUS303TI, K=
mILN Dy ow-F M (SUS304) T, ——
e 50mm-60mmANS— DM EIFEK T, LM
(P264BH) 75mm~100mmANS—EZAFYVRATT, —
vy
R BEFRE
mREI—K | oqx| A B c D E F G H B ~ruvs | e | BEE BZITEE it
SBP-0502 | 50mm | 50 1 13 12 8 15 3 Sieot | #6082z 150g | 100k | 4,260
SBP-0602 | 60mm | 60 14 17 20 17 2 2 10 | 598304 | sep00zz | 270g | 125k | 6,330 | SKFE
SBP-0752 | 75mm | 75 16 27 21 15 3 8 12 480g | 150k | 8,630 |
SBP-0902 | 90mm | 90 18 27 21 15 3 8 12 fﬁgﬁ% seo0pzz | B10g | 200k | 11,200 | MEFE
SBP-1002 | 100mm | 100 20 27 21 15 3 8 12 1130g | 200k | 12,900 -
RiEERE
Vg .
= 77v5—
m@I—k |94X| A | B | Cc | D|E | F |G| H | K Jpyys | gm | WEE | RRIGEE g
SBP-0505 | 50mm | 50 | 11 13| 12 | 8 15 | 3 6 3 Sheat | #6082z 120g | 100k | 4,260 B
BifsFE
SBP-0605 | 60mm | 60 | 14 | 17 | 20 | 17 2 2 10 3 | 45 | SHS30% | sec00zz | 240g | 125k | 6,330
SBP-0755 | 75mm | 75 | 16 | 27 | 21 15 3 8 12 3 55 430g | 150k | 8,630 Bﬁi‘;ﬁ
SBP-0905 | 9omm | 9 | 18 | 27 | 21 | 15 | 3 8 12 | 3 | 65 ngﬁ%‘ #6022z | 730g | 200k | 11,200 | F=¥
SBP-1005 | 100mm| 100 | 20 | 27 | 21 | 15 | 3 8 12 | 3 | 75 960g | 200k | 12,900 g;—
LIV
oo . # = WaE | R2lamE| o
BRI—K | HrZ| A B & D E F G H [ b | AFuvy | gE | WEE | BRI
SBP-0509 | 50mm | 50 n 13 12 8 15 3 3 Soses | #6087z 130g | 100k | 4,260 SE®
SBP-0609 | 60mm | 60 14 17 20 17 2 2 10 3 WieS08 | #e200zz | 230g | 125k | 6,330 |
SBP-0759 | 75mm | 75 6 | 27 | a1 15 3 8 12 3 410g | 150k | 8,630 ;\%fﬁ'ﬁ
SBP-0909 | 90mm | 90 18 27 2] 15 3 8 12 3 f,h’giﬁg #6202zz | 710g | 200k | 11,200 | —————
SBP-1009 | 100mm | 100 | 20 27 2] 15 3 8 12 3 960g | 200k | 12,900 | TF=E

N7YVI DY A X(EP2B4ZBRR. ML FvhD YA X(FP2655 .

129



